® =
g KHB,KHMZR5 & [EEkiE
H 0 G E (4N ﬁ m E KHB,KHM Series Higghggsggﬁﬂ\%

%%i%ﬁﬁ/Model Code

 kHB(BkH) G1/2] 1 N1l 1 Q2 JosQ
© @ © 0 6 6 0 ©

@ 51t S/Product code

KHB-f@ R ATk EDN04-25/40 KHB-Valve block Ball-shaped DN04-25/40
KHM-$EFEKEDN32-50 KHM-Sleeves Ball-shaped DN32-50

@ BB TIMEMIEER L/ Thread size or the pipe diameter and connection type

© iR/ Valve and joints material
1-F40/Carbon steel 4-FEEH/Stainless Steel
e BRORFOE gl El/Ball and spindle material control
1-gE$d/Carbon steel 4- 755/ Stainless Steel
© mikbEEE/ The seal material

1-POM 4-B U5 246/ Polytetrafluoroethylene 5-PEEK . ‘
j -
0O EEsmEETES/Joint seal and Control spindle seal Q = et b
2-NBR 4-FPM 6-EPDM “ =
@ Fifet/Handle Type
01-$2& S ##/Aluminum alloy crank 04-8&EEW/Zinc Alloy Straight Shank
02-t8& S E/Aluminum alloy straight handle ~ 05-#RIEEA/Steel crank
03-EFAS/IA/Zinc alloy crank 06-RFEERfA/Steel Straight handle

© =mEaiE/Surface treatment

EIABEER S/ Default plating blue white zinc
HE#EKiEiE/Please specify other requirements

i : TIERE(CC)/Operating temperature(°C)
-30~80

Zt}f:’?R“\T/Dimensions

® KHB(BKH) s -
l_ ! _ j
I .-
- — |
- L1 !
: £ |
® KHM . _— y
s _I | - 1
H——
) | )
|
- | l — ||
RN . SE— i i
L

http:/fwww.nbhoge.com



- | &= R ER %
HOGE &% E KHEB KHMRIISEIRIA

w
T
I
I
]
RA
d1
LW
1
dl

7
[ sl

JB987-77 IS0 228 ANSIB1.20.1

JB987-77HHELUIRE % £/ External thread seal

£

B2 Model

KHB-M12x1.25 4 500 | 4 8 M12x125 = 9 61 | 39 | 28 | 445 | 13 34 8 9 24
KHB-M16x15 | 6 | 500 | 6 | 11 | M16x1.5 | 11 | 69 | 39 | 28 | 445 | 13 | 34 | 8 9 24
KHB-M22x15 | 8 500 @ 8 16 | M22x1.5 12 | 76 | 43 32 525 | 17 | 40 | 8 9 27
KHB-M27x15 | 10 | 500 | 10 & 20 | M27x15 | 12 | 76 | 43 | 32 | 525 | 17 | 40 8 9 32
KHB-M30x15 = 16 400 | 15 @ 24  M30x1.5 13 | 84 | 48 38 635 | 19 & 46 @11 9 32
KHB-M36x2 | 20 315 | 20 30 M36x2 15 | 103 61 48 75 | 24 57 12 12 | ;1
KHB-M42x2 | 25 | 315 | 25 | 35 | M42x2 | 18 | 116 @ 66 | 57 | 82 | 285 64 | 12 | 12 | 46
KHM-M52x2 | 32 | 315 | 30 @ 40 & M52x2 | 20 | 149 | 84 | 82 A 108 | 41 | 875 14 | 14 55
KHM-M60x2 | 40 315 | 38 @ 50 | M60x2 | 22 | 174 | 92 | 93 1195| 465 99 14 | 17 70
KHM-M72x2 | 50 315 | 48 60  M72x2 | 24 | 178 100 110 1355 55 115 14 17 80

ISO 228WiELY/Internal thread

#E Model
KHB-G1/8 4 500 6 G1/8 10 69 39 28 | 445 @ 13 32 3 9 24
KHB-G1/4 | 6 500 6 | Gl/4 14 | 69 | 39 | 28 | 445 13 | 32 8 9 24
KHB-G3/8 T 500 | 10 | G3/8 | 14 | 72 | 43 | 32 | 525 | 17 | 40 8 9 27
KHB-G1/2 13 500 13 | Gl/2 16 | 8 | 49 | 35 | 525 17 | 40 8 9 32
KHB-G1/2 16 400 15 | G172 | 16 | &3 48 38 | 635 | 19 46 11 12 32
KHB-G3/4 | 20 315 | 20 | G3/4| 18 | 95 | 61 | 48 | 75 | =24 | s7 | 12 | 1z | 41
KHB-G1 | 25 | 315 25 | Gl | 205 | 113 66 | 57 | 82 | 285 64 | 12 | 12 | 46
KHB-G1'/4 | 25/32 315 25 GlY4 22 | 120 | 66 | 60 | 82 | 285 64 12 | 14 55
KHB-G1/2 | 25/40 315 25 | Gl/2 | 24 | 130 66 60 82 | 285 64 12 14 55
KHM-G1/4 | 32 315 30 | Gl/4 22 | 110 84 82 | 108 41 875 14 17 | 60
KHM-G1%/2 40 | 315 38 | G1/2 | 24 130 92 93 | 1195 465 99 14 17 70
KHM-G2 | 50 315 | 48 | G2 | 26 | 140 | 100 | 110 | 1355 | 55 | 115 | 14 | 17 | 8o

ANSIB1.20.1 NPT py4847/NPT Female

BE Model

KHB-1/8NPT 4 500 6 1/8NPT 105 & 69 39 28 | 445 | 13 32 8 9 24
KHB-1/4NPT | 6 500 | 6 1/4NPT. 14 | 69 | 39 | 28 | 445 | 13 | 32 8 9 24
KHB-3/8NPT 10 s00 | 10 (3/8NPT 14 | 72 | 43 | 32 | 525 17 | 40 8 | 9 | 27
KHB-1/2NPT 13 500 13 1/2NPT 17 | 8 | 49 35 525 17 40 8 9 32
KHB-3/4NPT 20 315 20 3/4NPT 19 95 61 48 75 24 57 12 12 41
KHB-INPT 25 315 | 25 |INPT | 225 | 113 | 66 | 57 | 82 | 285 | 64 | 12 | 12 50
KHB-1/4NPT | 25/32 315 = 25 (1/4NPT 225 120 66 60 82 | 285 64 12 | 14 55
KHB-1'/2NPT = 25/40 315 25 1Y2NPT 25 | 130 66 60 82 | 285 64 12 14 55
KHM-1'/4NPT = 32 315 30 1/4NPT 25 | 120 | 84 | 82 | 108 | 41 | 875 14 | 14 | 55
"KHM-1'/2NPT | 40 315 | 38 |1Y2NPT 25 | 130 | 92 | 93 | 1195 465 93 | 14 | 17 | 70
KHM-2NPT 50 315 48  2NPT 30 | 140 | 100 | 110 | 1355 55 | 115 14 17 | 80

m hitp:/fwww.nbhoge.com



i KHB,KHMZ5I = [EEkiE
HOGE %EEE KHB,KH!\.:iSeriesHigghlferls_J:Eﬁj\E

i

LW

d1
Lw
RA
d1
LW
RA
d1

£ 1 |
' . [ _L_%__ ! L N i
SN | N
[ 1 -
SAE J514 DIN 2353 LR DIN 2353 SR
SAEJ 514 UN/UNF i#24%/Internal thread
BE Model DN PN LW dl i L L1 B H hl h2 h3 SW1i SW2
KHB-SAE4 o 500 6 | SAE4 | 12 | 69 | 39 28 | 445 13 32 8 9 24
KHB-SAE6 10 | 500 10 | SAE6 | 13 | 72 | 43 | 32 525 17 40 8 9 27
KHB-SAE8 | 13 | 500 13 | SAE8 | 15 | 8 | 49 35 | 525 17 40 8 9 | 32
KHB-SAE12 20 315 20 | SAE12| 20 | 95 61 48 75 | 24 57 12 12 4
KHB-SAE16 25 | 315 25 |SAEl6| 20 | 113 | 66 57 8 | 285 64 12 | 12 | 46
KHB-SAE20  25/32 315 25 | SAE20 20 | 120 66 60 | 8 285 64 12 | 12 | 55
KHB-SAE24 | 25/40 | 315 25 |SAE24| 20 | 130 | 66 60 | 8 | 285 64 12 | 12 | 55
_ KHM-SAE20 | 32 | 315 30 |SAE20| 20 | 120 @ 84 | 82 | 108 41 | 875 14 14 55
KHM-SAE24 40 | 315 38 |SAE24 20 | 130 92 93 1195 465 99 14 17 | 70
KHM-SAE32 50 | 315 40 | SAE32 20 | 140 100 110 | 1355 55 115 14 17 80
DIN 2353 #£#7%1/light series HEEEBEENEDSFR
8E Model i ] 2 | h3 | swi| sw2

KHB-06LR 4 500 4 6 M12x1.5 10 | 67 | 39 | 28 | 445 | 13 | 32 ) 9 24
KHB-08LR | 6 500 | 6 | 8 | Mlax1s5 | 10 | 67 | 39 | 28 | 445 | 13 | 32 | 8 9 24
KHB-10LR | 8 500 8 | 10 | M16x15 | 11 | 74 | 43 32 |s25 | 17 | 40 8 9 27
KHB-12LR | 10 500 | 10 | 12 | M18xl15 | 11 | 74 | 43 32 | 525 | 17 | 40 8 g | 27
KHB-15LR | 13 | 500 @ 13 | 15 | M22x15 | 12 | 82 | 49 | 35 | 525 | 17 | 40 @ 8 9 | 32
KHB-15LR | 16 400 13 | 15 M22x1.5 12 | 82 | 48 | 38 | 635 | 19 | 48 | 11 9 32
KHB-18LR | 13 | 500 | 13 | 18 | M26x15 | 12 @ 82 | 49 35 | 525 17 40 @ 8 9 32
KHB-18LR | 16 | 400 | 15 | 18 | M26x15 | 12 | 82 | 48 | 38 | 635 19 | 46 | 11 | 12 | 32
KHB=22LR' | 20 | 315 | 19 | 22 | M30x2 | 14 | 101 | 61 | 48 | 75 | 24 | 57 | 12 | 12 | &1
KHB-28LR | 25 315 25 | 28 M36x2 14 | 108 | 66 | 57 | 82 | 285 | 64 | 12 | 12 | 46
KHB-35LR | 25/32| 315 | 25 | 35 | M45x2 | 16 | 112 | 66 | 60 | 82 | 285 | 64 | 12 | 14 | 46
KHM-35LR = 32 315 30 | 35 | M45x2 | 16 | 141 84 82 | 108 | 41 875 14 | 14 | 60
KHM-42LR | 40 | 315 @ 38 | 42 | M52x2 | 16 | 162 | 92 | 93 |1195| 465 99 | 14 | 17 | 70

DIN 2353 E&%/Heavy Series WIEEREENEDSE
#2 Model | DN PN ' '

KHB-08SR 4 | 500 | 5 8 M16x1.5 12 | 73 | 39 | 28 | 445 | 13 | 32 8 9 24
KHB-10SR | 6 | 500 | 6 10 M18x1.5 1Z | 73 | 39 | 28 | 445 | 13 | 32 8 9 24
KHB-125R | 8 | 500 | 8 | 1z | M™M20x15 | 12 | 76 | 43 | 32 | 525 | 17 | 40 | 8 9 27
KHB-14SR | 10 500 | 10 | 14 | M22x15 | 14 | 80 | 43 32 | 525 | 17 | 40 | 8 9 27
KHB-16SR | 13 | 500 | 13 | 16 | M24x15 | 14 | 86 | 49 | 35 | 525 | 17 | 40 8 9 32
KHB-20SR | 13 500 13 @ 20 M30%2 16 | 90 | 49 | 35 | 525 | 17 | 40 8 9 32
KHB-20SR | 16 400 15 | 22 | M30x2 | 16 90 48 38 635 19 46 11 | 9 32
KHB-255R 20 | 315 | 19 | 325 M36x2 | 18 | 109 | 61 | 48 | 75 | 24 | 57 | 12 | 12 | 4L
KHB-30SR | 25 | 315 | 25 | 30 | M42x2 | 20 | 120 | 66 | 57 | 82 | 285 | 64 | 12 | 12 | 46
KHB-38SR_ | 25/32| 315 | 25 | 38 | M52x2 | 22 | 124 | 66 | 60 | 82 | 285 | 64 | 12 | 14 | 55
KHM-38SR | 32 | 315 | 30 | 38 | M52x2 | 22 | 153 | 84 | 82 | 108 41 | 875 14 | 14 | 60

http:/fwww.nbhoge.com



- | &= R ER %
HOGE &% E KHEB KHMRIISEIRIA
—_ |

NI E: Eavy
#E Model
KHB-N-M14x15 6 | 500 6 | M14x15 | 14 | 69 | 39 28 (445 13 32 | 8 | 9 | 22
AU KHB-N-M18x15 10 | 500 10  M18x15 13 | 72 | 43 32 525| 17 40 | & 9 | 27
1—-11' | KHB-N-M22x1.5-SW9 | 13 | 500 13  M22x15 15 83 | 49 35 525 17 40 8 | 30
| | KHB-N-M22x15-SW12 16 | 400 15 @ M22x15 16 | 83 | 48 38 635 19 | 46 | 11 12 | 32
__ | KHB-N-M27x2 | 20 (315 20  M27x2 | 18 95 | 61 48 75 24 |57 12 | 14 | 41
0| KHB-N-M33x2 |25 (315 25 | M33x2 | 20 113 66 57 85 285 64 | 12 14 50
1 - | KHB-N-Ma42x2 | 32 :315: 30 Ma2x2 | 22 :120: 73 | 82 108 | 41 '_a}'.sz 14 17 60
1 KHB-N-M48x2 40 | 315 | 38 M48x2 | 24 130 | 94 93 1195 465 99 | 14 17 | 70
KHB-N-M60x2 50 315 48 & M60x2 | 26 140 100 110 1355 S5 115 14 17 80
1SO 7-1484
HE Model
| KHB-1/4BSPT 6 500 6 | Rcl/a | 14 69 | 38 28 (445 13 | 32 | 8 | 9 | 22
| KHB-3/8BPST |10 500 10 | Re3/8 | 14 72 | 43 32 525| 17 40 | 8 | 9 | 27
- :KHB—l/ZBSPT 13 :500: 13 Ra/2 | 17 | 83 49 35 525 17 @ 40 8 9 30
= KHB-3/4BSPT 20 | 315 20 | Rc3/4 | 20 95 | 61 48 75 | 24 | 57 | 12 | 14 | 41
| KHB-1BSPT 25 | 315 | 25 Rel | 225|113 66 57 82 285| 64 | 12 | 14 | 50
KHM-1'/4BSPT 32 | 315 30 | Reli/4 | 25 120 84 | 82 108 41 875 14 | 17 60
5 | KHM-1'/28SPT | 40 | 315 | 38 | Rely2 | 25 | 130 92 | 93 1195 465| 99 | 14 | 17 70
i | KHM-2BSPT |50 | 315 48  Re2 | 30 140 100 110 135 55 115 14 17 80
PNE{iIbar
IR R

IS Model

KHB-14MZ 8 8 14 | 143 | 43 | 505 | 32 | 525 | 17 | 40 8 9 37 | 27
KHB-16MZ 10 10 | 16 | 145 | 43 | 515 | 32 | 525 | 17 40 8 | 9 32 | 30
KHB-20MZ | 15 13 | 20 | 156 49 | 545 38 635 | 19 | 46 11 | 12 | 36 | 32
KHB-25MZ | 20 18 25 | 190 61 | 65 | 48 75 | 24 57 | 12 14 4 41
KHB-30MZ | 25 20 | 30 | 204 66 695 | 57 | 8 | 285 64 12 | 14 50 | 50
HEHIRENSSENA315bar
A

(1) ERFEARLERE  BOEG3/4, MHAENES  FRAHSSENN , EWARE , HES | KHB-G3/4-04F{R
(2) WMEREE , §F/MEHR35. REARRS , HHAHNES  MEESHE , FREFERE  HEE  KHM-35LR-065RRE ;
(3) EHEXESHATEAE.

m hitp:/fwww.nbhoge.com



KHB,KHB3KEk @ %= LR

KHB,KHB3K Ball Valve Aside Mounting Holes Series

HOGE &HRE

HRERS

BFLiERER < /Full Holes Dimensions

12T iEE R < /Thread Holes Dimensions

DN A d DN A t F g M
4 30 4.6 4 30 6.7 6 9 M6
6 30 5 6 30 6.7 6 9 M6
10 ' 32 6.6 10 32 8 5.5 10 M6

13 ' 37.5 6.6 13 37.5 9 6 11 M6

16 ' 37.5 6.6 16 37.5 8 8 10.5 M6

20 | 485 6.5 20 45 13 75 15 M10

25 | 505 6.5 75 45 13 75 15 M10

32 ' 50.5 8.5 32 45 13 7.5 15 M10

@ES&EE?&Z?E%}L

L DN E F t d

rlr ' 4 24 4.5 9 M6

H 6 24 45 9 M6

LS 10 32 5.5 12 M6
L) L g 13 36 6 12 M6
[ | 16 32 6.5 12 M6
[ ] ! 20 45 15 12 M6
| 25 as 7.5 12 M6
T 25/32 45 7.5 12 M6

http:/fwww.nbhoge.com m



